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1. B@EfHKI
SMERET avy)—+ t=6cm m® 1.9
WMEEIET RYv—HwEIH AS20F  t=6cm m? 31.6
ThKE o — hBAK m? 31.6
B4 T 18 m 23.8
YN =xyya7-7° & 150mm m 23.8
HhEHIFL ¢ 30mm m 2.22
HIlFL&R & APIPE SUS304 PIPE (FRIRSHY) ¢20mm| m 2.52
ILEVINFa—T SUS304 $20A ($8F v ) m 4.50
FeiBEY-IHF mm| 871
2. fiEEE HE
AEE B - HEA m 3.98
A2FB & AENA - A m 3.98
avsy—riEoyY m° 0. 46
#®iTbaVo—+F o ck=24N/mm2 me 0. 46
7 o h—f (SD345) D16 kg 16. 96
aAVH =T oh— (SS4004H 24 ) D168 PN 128
—IL# syavk 0y b 0. 56
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3. LET B
HUA—T5X k m? 0.63
TS5 (T 7akE) m? 0.5
W EEE m? 0. 0053
4. TERL#HE

HUA—T5X k m? 0. 68
TS5 (T7aBE) m? 0.20
VUVEIRNEA m 2.25




NO. 1 HEESHE - BEIKE HEHEESE
| =l iR & i 5 K Bl # =
1) HERET
avHy— FBEYEIEE| A= 7.94 x 3.98 m?| 31.60
b ) — RaEEYIEIESER| V= 31.60 X 0.06 me 1.90
SV — FEEEIEml V= 1,90 x 2.35 = 1.80 m® 2.48
2) HHEEIET
HEFRAI7ILRIE
t=6cm A= 7.94 x 3.98 m? 31.6
3) FhKE
— MREK A= 7.94 x 3.98 m? 31.6
4) BKINAT
Mu{-I (¢ 18) L= 400 + 7.90 + 4.00 + 7.90 m 23.80
YN =4yYa7-7"  HE150mm | L= 4.00 + 7.90 + 4.00 + 7.90 m 23. 80
5) HEAIFLEEK
smEIZ  sm | L= 037 x 6 m 2,22
HI FL &R APIPE
wwmpwd b 18mm L= 0.42 x 6 m 2.52
(KBIHSHY)
ILESITNFa—T SUS304 ¢ 20A (44 k{)
l= 0.75 x 6 m 4. 50
FeiE Y- V=1 /8x (3 - 22 )xxrx 37 x 6 |mml 871
AR IEE A= 0.50 x 2.22 m? 1.1




NO. 2 fRiEEERE WEHES
5 ™ B’ F - ¥ 6L =
aryl—+rEDY (%)
AMEE Vi= 472 x 0.09 x 0.25 0. 11
Al#r{al V2= 3.98 x 0.09 x 0.33 0.12
A2tE& V3= 472 x 0.09 x 0.25 0. 11
A2# {81 V4= 3.98 x 0.09 x 0.33 0.12
&t 2V= 0.11 + 0.12 + 0.11 + 0.12 m? 0.46
iR E CDs%! —20A
MiESE B - EEA m 3.98
ANFEE ATENEl - EEA m 3.98
#®¥THa2Y 1J)— f ock=24N/mm2
AMEE Vi= 472 x0.09 x 0.25 0.11
ATHT AR V2= 3.98 x 0.09 x 0.33 0.12
A21EE V3= 472 x 0.09 x 0.25 0.11
A2#T 4 V4= 3.98 x 0.09 x 0.33 0.12
&t V= 0.11 + 0.12 + 0.11 + 0.12 m?® 0.46
7 v h—F (SD345)
At#r{al D16 x 85
n= V. 32
W= 1560 x 0.085 x 32 kg 4.24
AEE D16 x 85
n= ¥ 32
W= 1560 x 0.085 x 32 kg 4.24
A2#{al D16 x 85
n= V. 32
W= 1560 x 0.085 x 32 kg 4.24
A24BE D16 x 85
n= N 32
W= 1560 x 0.085 x 32 kg 4.24
E V=424 +4.24 +4.24 +4.24 kg 17.0




vy )—brT7h— (SSA00MH &)

MBS R D16/ P/ 64
A2t5 & I D16F X 64
&t IV= 64 + 64 X 128

Y= (YYarvRk)

AEE 25mmx 15mm  L=740mm
V =0.025 x 0.015 x 0.740 x 1000 1y b 0.278

A2t5 & {8 25mmx 15mm  L=980mm
V =0.025 x 0.015 x 0.740 x 1000 1y M 0.278

g ZV=0.278 + 0.278 Yy b 0. 56




NO. 3,4 LEHITEIME HE=HEHEE

BERAR(YSY-IS5AN)

#(mm)  HE(mm)  EFE (Mm2)

Hralm L 100 450 45000
850 300 255000

200 400 80000

300 200 60000

350 400 140000

350 150 52500

H 632500

A1ERBE 50 200 10000
150 200 30000

100 50 5000

50 200 10000

250 250 62500

50 200 10000

100 150 15000

100 200 20000

600 50 30000

100 250 25000

700 50 35000

50 200 10000

250 150 37500

i 300000

A2EREE 1500 40 60000
150 300 45000

500 450 225000

450 100 45000

Hi 375000

ObHN 1E1mmA T (DT ENEALE)
£ (mm)
A1ERBE 150
200
1300
200
400

&t 2250

IJ0(7'53h)
B(mm)  #Ht(mm)  EFE(mm2)
HITE 1000 500 500000
i 500000
A2BREE 450 450 202500
it 202500

RIBE (MAEIEE)

{A%& (nm3)
HrAlmE LAl 250 x 250 X 80=5000000
B 5000000
{A%& (nm3)
HrRI TR A 300 x 30 x 30=270000
it 270000
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& gl 68 68 0 b:  fEHUHE  (2v2)-MTA-74vF b+ CABBR <)
X5y oL M o - LOF OB O K & fHIESE (BlGE) fHIE 3R (L@ k)
Hifgh (D 1 D#IX 1.0 1.5
LI e
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S 0.5 1.0
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